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Question Number : 1 Question Id : 284703859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a part of Slide Design?

Options:

, w Design Template

- % Colour Scheme
= % Animation Scheme

4 + Slide Show

Question Number : 1 Question Id : 284703859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 284703860 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is used to represent data in grid of rows and columns?

Options:
1 ®# Header

-~ % Footer
5 w Paragraph

4 « Tables

Question Number : 2 Question Id : 284703860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 284703861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ISP stands for

Options:
, w Internet Survey Period

> « Internet Service Provider

- » Integrated Service Provider

4, » Internet Security Protocol

Question Number : 3 Question Id : 284703861 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 284703862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following follows last-in first-out (LIFO) storage policy?
Options:



% Queue
~» % RAM
3 « Stack

« Both stack and queue

Question Number : 4 Question Id : 284703862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 284703863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A user can get files from another computer on the Internet by using which protocol?

Options:
1.« FTP

> % HTTP
=z B UTP

4 % TCP

Question Number : 5 Question Id : 284703863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T SUARTRAT Pl § FSFIT H FTANT Fh $SAC W FAr o 357 FogeT F TR I
FT THaT &7

Options:

, v FTP



> % HTTP
5 % UTP

4 % TCP

Question Number : 6 Question Id : 284703864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following devices is required for an Internet connection?

Options:
. % BIOS

> « NIC Card
z % CD Drive

4 # Joystick

Question Number : 6 Question Id : 284703864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 7 Question Id : 284703865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How are generations of computers classified?
Options:

, w» By the model of the computer

> % By the speed of the computer



-  BY the devices used in the memory and the processor

4 w By the accuracy of the computer

Question Number : 7 Question Id : 284703865 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 284703866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
the computer opens your user account and makes the computer available for use.

Options:

, « Loggingonto

~ % Registering on
5 % Signing up on

, » Enrolling on

Question Number : 8 Question Id : 284703866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 284703867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Portrait and Landscape are options in MS Word.
Options:

|« Page Orientation

~ u Paper Size

- # Page Margins

4 » PageBorder

Question Number : 9 Question Id : 284703867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 284703868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following operators has relatively the highest precedence?

Options:
, % Subtraction (-)

- % Addition (+)

-  Division (/)



4 % Both addition and subtraction

Question Number : 10 Question Id : 284703868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 284703869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To create an interactive pivot table for the Web, a Microsoft Office Web component called is used.

Options:
1 % himl

> % chart
= % sort

4 « Divot table report

Question Number : 11 Question Id : 284703869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 12 Question Id : 284703870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS PowerPoint, the option controls the speed of a transition effect.

Options:
1 « Duration

- % Sound
3z # Time

4 % Speed

Question Number : 12 Question Id : 284703870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 284703871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
translate(s) the processed information from the computer into a form that humans can understand.

Options:
, w Inputdevices

-  Output devices

z % Utilities

4 % Software

Question Number : 13 Question Id : 284703871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 284703872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
On a hard disk, a runs through each track of a stack of platters.

Options:
, w magnetic charge

5 o cylinder

z # head

4 % sector

Question Number : 14 Question Id : 284703872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 284703873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In IRC, the term ‘R’ stands for which of the following?



Options:
1 % Real

»  Relay

3 % Record

4 % Random

Question Number : 15 Question Id : 284703873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 284703874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1 kilobyte = bytes

Options:

, % 100 bytes

o o 1024 bytes

3 % 1024 bits

4 % 1024 nibbles

Question Number : 16 Question Id : 284703874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 17 Question Id : 284703875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following are output devices?

Options:

| Monitor and printer

- » Floppy disk and CD
- » Keyword and mouse

4 # Windows 2000 and Windows NT

Question Number : 17 Question Id : 284703875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 284703876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the built-in memory of a computer, also known as the primary memory?

Options:
, & DVD

o B CD



s « RAM

4 % Hard Disk

Question Number : 18 Question Id : 284703876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 19 Question Id : 284703877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The first high-level computer language developed for programming was

Options:
1 ® COBOL

> « FORTRAN
3_&3':
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Question Number : 19 Question Id : 284703877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 284703878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Two or more computers connected to each other for sharing information is called

Options:
1 « anetwork

- % aroute
3 % aserver

4 % atunnel

Question Number : 20 Question Id : 284703878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 21 Question Id : 284703879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Coded entries used to gain access to a computer system are called
Options:

, % entry codes

-  Dpasswords

- % security commands

4 % code words

Question Number : 21 Question Id : 284703879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 284703880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
To save an existing file with a new name at a new location. the command is used.

Options:
1 ® Save

> % Close
= o Save As

4 % Open

Question Number : 22 Question Id : 284703880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 284703881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To print a document,

Options:



1 « select the Print command and then select OK

- u select the Ready Printer command then select OK
- % type Print and then press Enter

4 % close the document. select the Print command and then select OK

Question Number : 23 Question Id : 284703881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 284703882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a database. fields store numbers used to perform calculations.

Options:
1 % Next

5 % Key

5 % Alphanumeric

4 « Numeric

Question Number : 24 Question Id : 284703882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 284703883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What 1s the function of a control unit in a CPU?
Options:

, w Totransfer data to primary storage

> % To store program instructions

- » To perform logic functions

4 « Todecode program instructions

Question Number : 25 Question Id : 284703883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 26 Question Id : 284703884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
iz an application program that helps the user to change any number and immediately see the result of that
chamge.
Options:
; = Desktop publishing program



- % Database

3 o Spreadsheet

4 % PowerPoint

Question Number : 26 Question Id : 284703884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 284703885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How do vou select an entire column in MS Excel?

Options:
; w Select Home Tab of Font group

-  Click the column heading letter
5 » Hold down the Shift key as you click anywhere in the column

4 w Hold down the Ctrl key as you click anywhere in the column

Question Number : 27 Question Id : 284703885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 284703886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a telecommunications hardware that allows you to access the Web?

Options:
1 % DBrowser

> « Modem

5 % FTP protocol

4 % IRD

Question Number : 28 Question Id : 284703886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 284703887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the term used when you press and hold the left mouse key and move the mouse around a slide?

Options:
, w Highlighting

>  Dragging



5 # Selecting

4 w Pointing

Question Number : 29 Question Id : 284703887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 30 Question Id : 284703888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Numbers entered into an Excel cell are automatically

Options:
, w leftaligned

o o right aligned
5 » centre aligned

4 w Justified

Question Number : 30 Question Id : 284703888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 31 Question Id : 284703889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
An e-mail message can be protected by:

Options:
| % mirroring

~ % caching

5  encryption

4 w resending

Question Number : 31 Question Id : 284703889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 284703890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a boot firmware program on a PC?

Options:
1 # NIC Card
> % Hard Disk

z % Cache



4 « BIOS

Question Number : 32 Question Id : 284703890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 284703891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT an output device?

Options:
1 % Plotter

> % Printer
z « MICR

4 % CRT monitor

Question Number : 33 Question Id : 284703891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 284703892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To protect a computer from viruses, software can be installed on the computer.

Options:

, w» backup

- % LinkedIn
5 = Skype

4 « antivirus

Question Number : 34 Question Id : 284703892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 284703893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following kev combinations can be used to select an entire document?

Options:

1 o Ctrl+ A

> #% Alt+F5

z % Shit + A
4 % Cirl+K

Question Number : 35 Question Id : 284703893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

L » Ctl + A
, = Alt + F5
. = Shift + A

L% Ctl + K

Question Number : 36 Question Id : 284703894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A contains buttons and menus that provide quick access to commonly used commands.

Options:
1 = Task bar
> « Menu bar

- u Navigation bar

Status bar

o
®

Question Number : 36 Question Id : 284703894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 37 Question Id : 284703895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TFTLCD stands for:
Options:

, w Thin-Film Transistor Light-Crystal Display



> % Thick-Film Transistor Liquid-Crystal Display

-  Thin-Film Transistor Liquid-Crystal Display

4 % Thick-Film Transistor Light-Crystal Display

Question Number : 37 Question Id : 284703895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 38 Question Id : 284703896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Overheating of CPUs may result in:

Options:
1 # virus infection

> % stack overflow

5 » PC lockup after sometime

4 +« PC shutdown

Question Number : 38 Question Id : 284703896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 39 Question Id : 284703897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Computer files are infected due to the presence of:

Options:
, w icons of desktop

- % fragmented files

3 o Viruses

, % multiple operating systems

Question Number : 39 Question Id : 284703897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FEYET 5ol fohHehT ITTEUTT & FRUT SBTFCS & Tehal 672

Options:
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Question Number : 40 Question Id : 284703898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
is nsed for voice communication over IP networks.

Options:
1« VoIP
5> % SMTP

= % TCP/IP



4 % POP

Question Number : 40 Question Id : 284703898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HISST HEas W IEH FAGAHRA & e =T 39T fRaT AT B

Options:

v VoIP

, % SMTP
. « TCPIIP

, = POP

Question Number : 41 Question Id : 284703899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following file formats is used to save DVD Video Object files?

Options:
. = dvoj

> o VOb

5 % Vobj

4 % Vi

Question Number : 41 Question Id : 284703899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Eefafts £ § FiF 8 wEw wEe &7 390 S IfEr MEseT BEAT & 399 F F A G
T §7

Options:

, % dvoj

> « VOb
« Vobj

B

4 % dvi



Question Number : 42 Question Id : 284703900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the shorteut key combination to add a previous sheet to a current selection of sheets in an OpenOffice Cale?

Options:
, = PageUp

» % Ctrl+Page Up

=  Shift + Ctrl + Page Up

4 % Shift +Page Up

Question Number : 42 Question Id : 284703900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TF HITHITBE Fok A MeH F TaAT Hoaed H Aoer fic & Sea & v aicee Fi
O T 27

Options:

, » Page Up
> % Ctrl + Page Up
-  Shift + Ctrl + Page Up

4 % Shift + Page Up

Question Number : 43 Question Id : 284703901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Windows shortcuts can be used to get the function of ‘move’ command?

Options:
1 o Cl+X Ctrl+V
> % Ctl+C,Ctrl+V

5 % Ctrl +A, Cil+C

4 % Cirl +20 Cale

Question Number : 43 Question Id : 284703901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1. ¢ Cirl

.I_

X, Cirl +V

+

, % Ctrl + C, Ctrl + V

+

. % Ctl+ A Ctl+C

.I_

, % Ctl+ X Ctl+C

Question Number : 44 Question Id : 284703902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Base 10 refers to which of the following number systems?

Options:
1 # Hexadecimal

> ¢ Decimal
3 % Octal

4 » Binary-coded decimal

Question Number : 44 Question Id : 284703902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FT 10 Faof@a & ¥ #iF O Fa ool FF Fefag & &7

Options:

1 % %EIIE SRR
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Question Number : 45 Question Id : 284703903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following devices has a small hard rubber ball underneath it that moves against two rollers as it passes
across a flat surface?

Options:



1 « Mechanical mouse
- % Scanner

- » Optical mouse

4 % Plotter

Question Number : 45 Question Id : 284703903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
freaeg § O #i7 o B9Ey & o0F 79 W UF o O 312 195 & 99 g £ S % ga9 598
F O B & Ee & {IFE T AT & 82

Options:

b O
1 « Hebldhel HIZH
2 % Fhel
5 % HIogamel AT

4_%@3

Question Number : 46 Question Id : 284703904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When a running program attempts to address memory outside of its allocated space, it causes:

Options:
, w ‘divide by zero’ error

> # stack overflow error

5 general protection fault

« Tatal exception error

Question Number : 46 Question Id : 284703904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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I &

Options:
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Question Number : 47 Question Id : 284703905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What would be the probable cause of error if a machine restarts while logging on to Windows system?

Options:

, % Some application preventing the user to log on

- % Problem with any resource conflict
-  Problem with the Windows registry

4, % Problem with the user’s login credentials

Question Number : 47 Question Id : 284703905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
ofg mfe e famew o7 &7 3 =0 wrn e @ ¢, ww R = mefae s s e

Options:
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Question Number : 48 Question Id : 284703906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a financial function in MS Excel?

Options:



, % FVQ
, % NPVQ
5 » SUMQ

4 ® PMTQ

Question Number : 48 Question Id : 284703906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e ad ¥ ¥ id 9T UATH Uaad H UF ST 5T 8! 87
Options:

& FVQ

.« NPV()
- » SUM()

, % PMT()

Question Number : 49 Question Id : 284703907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT a text function in MS Excel?

Options:

, % CHAR(Q

> ® LENO
- x VAR(

. v ABSQ

Question Number : 49 Question Id : 284703907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

g # ¥ 9 97 vATE vaga # UF ¢FE B al 87
Options:

. % CHAR()



> % LENQ
. x VAR()

4 v ABS()

Question Number : 50 Question Id : 284703908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The decimal equivalent of the binary number (1001.0010), is

Options:
; ® 19,125

o> R 05
3 % 9.25

Pk

Question Number : 50 Question Id : 284703908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

IS4 GE4T (1001.0010), &7 SUHAT THFET ¢
Options:

. % 19.125
- % 9.25

L v 9.125

Question Number : 51 Question Id : 284703909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
PowerPoint shortcut key to initiate slide show is:

Options:
1 % Ctrl+V
> % Ctrl+ 8

=z B F2



4. ¢ F5

Question Number : 51 Question Id : 284703909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TAEE o UNH FId & [oIT JTai9se oAéHhe & &

Options:

[ % Ctrl + V
- % Ctrl + S
SR ] F2

4« F5

Question Number : 52 Question Id : 284703910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What happens if vou select the first and second slides and then click on the New Slide button?

Options:
, » Amnew slide is inserted as the first slide in the presentation.
> % Amnew slide is inserted as the second slide in the presentation.

-  Amnew slide is inserted as the third slide in the presentation.

Both the selected slides are deleted.

o=
®

Question Number : 52 Question Id : 284703910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Section Id :
Section Number :
Section type:

Mandatory or Optional:
Number of Questions:
Number of Questionsto be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Question Id : 284703911 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Sub-Section Number:
Sub-Section | d:

Question Shuffling Allowed :
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Cesticn Label | Comprehiension

READING COMPREHEMNSION

28470379
2

Online
Mandatory
1

1

5

Yes

No

1
28470379
Yes



Read the following passage and answer the questions
given below:

The coconut tree is a ‘wonder tree’. The name was
given to it by the Portuguese because. with the three marks
or eye spots at the end. it looked something like a monkey's
face. and 'coco' is a Portuguese word for a distorted mask.
The coconut palm often grows over a hundred feet high. and
has at the top a crown of large feather-like leaves twenty feet
long. The flowers are white, and the nuts when they form are
in huge bunches of twelve to twenty.

It is doubtful if any other plant in the world is useful
to man in so many ways. A Chinese proverb declares that
there are as many useful properties in the coconut palm as
there are days in the year. And we also have a saying that the
man who plants a coconut. plants meat and drink. hearth and
home. vessels and clothing for himself. and his children after
him.

Indeed. people throughout the world benefit from the
coconut palm. Not only do the natives of the lands where it

grows benefit by itf. but the people of other lands also make
use of the coconut in some form every day of the year.

In hot countries the solid white parts of the nut gives
food to thousands of people. while the milk. or liquid inside
the shell. provides them with drink. It has been pointed out
that the coconut really acts as a filter for the water of
malarious regions, for the roots absorb polluted liquid and
purify it before passing it on to the nut. The flower stalk
yields a sweet juice which is boiled to produce sugar or the
juice can be fermented to produce a spirit known as toddy.
By squeezing the dry nut we get coconut oil. which serves as
an excellent cooking medium.

Sub questions

Question Number : 53 Question Id : 284703912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Which part of the coconut looks like a
‘distorted mask™?

Options:

, w The three shapes of the bottom of the unpeeled coconut



-~ % The three parts of the sides of the peeled coconut

-  The three marks on the top of the peeled coconut

4 % The cap-like thing of the unpeeled coconut

Question Number : 54 Question Id : 284703913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The meaning of the Chinese proverb is:

Options:
1 # The coconut has medicinal values.

-~ % The coconut trees will benefit the future generations.

5 « The coconut has hundreds of useful things for humans.

4 % The coconut grows across the world.

Question Number : 55 Question Id : 284703914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements is true?

Options:

, « Coconut is exported to places where it is not grown.

» » Coconut is not available to places where it is not grown.
5 » Coconut is available only in the places where it is grown.

4 » Coconut grows only on seashores.

Question Number : 56 Question Id : 284703915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘In hot countries the solid white parts of the nut gives food

to thousands of people,” means that:

Options:
, w Iresh coconut is available in cold country.

> % fresh coconut is available both in cold and hot countries.



= % Iresh coconut is not available in hot countries.

4 + Iresh coconut is not available in cold countries.

Question Number : 57 Question Id : 284703916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How is toddy produced from coconut tree?
Options:

1 # From the coconut water

By fermenting the juice from the flower stalk
- « Of the coconut

5 % By fermenting the hard pulp of coconut

4, » From the coconut peel

Question Id : 284703911 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Cuestion Label © Comprehension
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Sub questions

Question Number : 53 Question Id : 284703912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 54 Question Id : 284703913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 55 Question Id : 284703914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 56 Question Id : 284703915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 57 Question Id : 284703916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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QUANTITATIVE AFTITUDE

Section Id : 28470380

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 28470380
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 284703917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the approximate value that will come in place of the question mark (?) in the
following equation.

68% of 1288 + 26% of 734—-215="7
Options:
1 ® 620

> % 930

Question Number : 58 Question Id : 284703917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

3H HFHAIAT A F =797 L 3 i@ g # god [@ea () & Fuea 9v e

68% of 1288 + 26% of 734 - 215 = ?
Options:

| % 620

> % 930

s % 540

.« 850



Question Number : 59 Question Id : 284703918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the given number series, one number is incorrect. Select the INCORRECT number.

45 15 6 3 2 1 4
Options:
1 ® 15

2_&33

Question Number : 59 Question Id : 284703918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& T TEAT AT F Fael Tk TEIT Teid g1 el AT H AT

45 B 6 3 2 1 4
Options:

Question Number : 60 Question Id : 284703919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Select the option that will come in place of the question mark (?) in the given number series.

33 165 <t 2475 49.5 123.75
Options:

1 % 8.25

5 o 16.5

T R 66

g4 W 09



Question Number : 60 Question Id : 284703919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

30 @ed & 99 F AT HeAToad TET H@eT H YA FEA (?) & T 9 HAE

33 18bh 7 2495 48k 12375
Options:

| » 825

-« 16.5

o ® 55

g4 ® 99

Question Number : 61 Question Id : 284703920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The val £ 0.324 x 0.081 X 4.624 \
R 1.5625 X 0.64 X 0.0289 X 72.9 e

Options:
1 ® 0.16

5 o 024

Question Number : 61 Question Id : 284703920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

FAAE:

0,324 X 0.081 x 4.624
1.5625 X 0.64 X 0.0289 X 72.9

Options:
, % 0.16
, « 0.24



Question Number : 62 Question Id : 284703921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ravi sold an article at 5% gain, Had it been sold for T 75 more, the gain would have been 14%. The cost price of the
article was:
Options:
-
1. < 1.250

> w < 1,400

5 u < 1450

4 % T 1600

Question Number : 62 Question Id : 284703921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

v T1,250
5w T 1400
o = 1,450

, = 1,600

Question Number : 63 Question Id : 284703922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In an allov, the ratio of zine and copper 15 2 ; 8, whereas in another alloy, the ratio of zinc and copper 15 9 : 13. In what

ratio should the two allowvs be mixed to get a new alloy having zme and copper in the ratio 3 : 37
Options:
1 % 3:4

N
b
Lh
o

Question Number : 63 Question Id : 284703922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:
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= o 3 & 2
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Section Id :
Section Number :
Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

28470381
4

Online
Mandatory
6

6

6

Yes

No

1
28470381
Yes

Question Number : 64 Question Id : 284703923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select the option that is related to the third word on the same basis as the second word is related to the first word.

Foundation : Edifice :: Constitution : ?
Options:

1 # Government

-~ % State

3 « Nation

4 % Cabinet



Question Number : 64 Question Id : 284703923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 65 Question Id : 284703924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third word on the same basis as the second word is related to the first word.

Convoy : Ships : : Deputation : 7
Options:
1 ® Voters

> of Representatives

=z % Politicians

4 % Writers

Question Number : 65 Question Id : 284703924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 66 Question Id : 284703925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the alternative with the most appropriate description about these three words.

Michigan : Baikal : Nicaragua
Options:

. + They are names of lakes.

- % They are names of cities.
- % They are countries of Europe.

4 % They are good trading centres.

Question Number : 66 Question Id : 284703925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 67 Question Id : 284703926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Select the alternative with the most appropriate description about these three words.

Green : Violet : Orange
Options:
, % They are primary colours.

» % These colours occur together in a rainbow.

5  They are made by mixing other colours.

4 #% These colours are not found in butterflies.
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Select the option that is related to the third number on the same basis as the second number
is related to the first number.

583 :2093 :: 488 : ?

Options:
1 % 291
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Usg the following information to answer the given question.

Seven poles. A, B, C. D, E. F and G, are put in such a way that the distance between the next two decreases by 1 metre.
The distance between the first tawo poles, A and B. is 10 metres,

What i5 the distance berween the first pole. A, and the last pole, G?
Options:

1 # 40 metres

= « 45 metres

= % 49 metres

4 % 50 metres
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CTBT stands for:

Options:

, w Continued Test Ban Treaty

> % Continued Test Based Treatment

5  Comprehensive Nuclear Test Ban Treaty

4 % Commercial Test Based Tariff
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Apart from the Nobel Peace Prize, other Nobel Prizes are awarded annually at:

Options:
1 % Manila

®

> « Stockholm

5

= % Geneva

New York

o=
®
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How many members of the Tharkhand Legizlative Assembly supported Arjun Munda for his candidamre as Chief
Minister before his swearing-in ceremony on 11 Seplember 20107

Options:

1 ® 41

2 ¢ 43
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India won its first Olympic hockey gold in the year

Options:
1 v 1928

> % 1932
- % 1936

4 % 1948
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v 1928
» % 1932
- = 1936

4 % 1948
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Which of the following is the worst flood-affected area in India?
Options:

1« Assam

~ % Nagaland
5 % Manipur

4 % Iripura
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A model that differentiated consumer and capital goods was used to formulate the Second Five-Year Plan in India, This
model was proposad by
Options:
1 % Mrs Indira Gandhi



- % DrRajendra Prasad

3 « PC Mahalanobis

4 » BR Shenoy
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Wornens History Month is an annual declared month that is traditionally held in March, but the study of
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The Scuth Pole is the scuthernmost point on the Earth. It is the precise point of the southern intersection of the
earths axis and the earths surface. From the South Pole, all directions are north. [ts latitude is 90 degrees
south, and all lines of lengitude meet there, a5 well as at the North Pole, on the opposite end of the Earth. The
South Pole is located on Antarctica, one of the Earths seven continents. Although land at the South Pole is only
about a hundred meters above 523 level, the ice sheet above 1t 15 roughly 2,700 meters thick, This elevation
makes the South Pole much colder than the Morth Pole, which sits in the middle of the Arctic Ocean. In fact, the
warmest temperature ever recorded at the South Pole was a freezing minus 12.3 degrees Celsius. The coldest
termperature recorded at the South Pole, minus 82 8 degrees Celsius, still warmer than the coldest termperature
ever recorded, minus 9.2 degrees Celsius. That ternperature was recorded at the Russian Vostok Research
Station, about 1,200 kilometres away, BeCcause the earth rotates on a tilted axis as it revolves around the sur,
surlight is experienced in extremes at the poles. In fact, the South Pole experiences only one sunrise, at the
September equinos, and one sunset at the March equinos, every vear. From the South Pole, the sun is always
above the horizon in the surmrmer and below the horizon in the winter. THhis means the region experiences up o
24 hours of sunlight in the summer and 24 hours of darkness in the winter. Due to plate tectonics, the exact
location of the South FPole is constantly moving. Flate tectonics is the process of large slabs of Earths crust
moving slowly around the planet, bumping into and pulling apart from one ancther. Owver billions of years,
earths continents have shifted together and rifted apart. Millions of years ago, land that today is the east coast
of South America was at the South Pole. Today, the ice sheet above the South Pole drifts about 10 meters every
year. Cormpared to the Morth Fole, the South Pole is relatively easy to travel to and study. The MNorth Pole is in
the middle of the Arctic Ocean, while the South Pole is on a stable piece of land. The United States has had
scientists working at Armundsen Scott South Pole Station since 1356, Between S0 and 200 scientists and
support staffs live at the research station at any given time. The station itself does not sit on the ground or ice
sheet. [t is able to adjust its elevation, to prevent it from being buried in snow, which accurmulates at a rate of
about 20 Centirmnetras every year.
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